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QUESTION 1

FooBean is an EJB 3.0 session bean that can make valid use of UserTransaction. Which is guaranteed to work in an
EJB container for FooBean to obtain the UserTransaclion object? 

A. Invoke a method on a SessionContext that returns a UserTransaction object. 

B. Perform JNDI lookup with name "java:/UserTransaction" on an InitialContext. 

C. Perform JNDI lookup with the name "jdbc/UserTransaction" on an InitialContext. 

D. Use the @TransactionManagement annotation to inject an instance variable of type UserTransaction in a bean
class. 

Correct Answer: A 

 

 

QUESTION 2

Which statement is true about the Timer service in an EJB 3.0 stateless session bean? 

A. The timeout callback method contains the business logic that handles the timeout event. 

B. The timeout callback method must be declared as a business method in business interfaces. 

C. The timeout callback method can throw application exceptions to report business logic failures. 

D. A bean class can implement multiple timeout callback methods, each associated with a different timer. 

Correct Answer: A 

 

QUESTION 3

A Java Persistence application uses entities mapped to tables from two datasources in the same transaction. What
statement is correct? 

A. This is NOT possible. 

B. The entities mustbepackaged into two persistence units. 

C. The entitiescanbe packaged intoa singlepersistence unit 

D. Theentities must be packaged usingtwo differentpersistence.xml files. 

Correct Answer: B 

 

QUESTION 4
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Given a stateless session bean with container-managed transaction demarcation, from which two methods can a
developer access another enterprise bean? (Choose two.) 

A. beanconstructor 

B. Timeout callback method 

C. PreDestroy lifecycle callback method 

D. PostConstruct lifecycle callback method 

E. businessmethod fromthebusiness interface 

Correct Answer: BE 

 

 

QUESTION 5

Given: 

10.

 ©Stateless 

11.

 public void SecureBeanOl implements SecureOI { 

23.

 @AllowRoles("ADMIN") 

24.

 public void methodAO {} 

10.

 ©Stateless 

11.

 public void SecureBean02 implements Secure02{ 

23.

 @AllowRoles("administrator") 

24.

 public void methodB0 {} 

Which deployer action permits a user authenticated as "John" to call both methodA on SecureBeanOl and methodB on
SecureBean02? 
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A. The deployer maps both role "ADMIN"androle "administrator" to user "John". 

B. Thedeployerreplaces"administrator"by "ADMIN" in thesource code of SecureBean02and maps"ADMIN" to user
"John". 

C. The deployer overrides the method permission of SecureBean02. methodBintheejbjar. xmldeployment descriptor and
maps"ADMIN"to user "John". 

D. The deployer defines a common role and maps role "ADMIN" and role "administrator" using security-role-ref entries
to this role. This common role is mapped to user "John1 

Correct Answer: A 
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